
COMINO А6000 Waterblock. Assembly instruction 1

COMINO
А6000 Waterblock

ASSEMBLY 
INSTRUCTION

COMINO 
HOLDING LTD. 
2021



COMINO А6000 Waterblock. Assembly instruction 2

RTX3000 3080FE/3090FE/A6000/A4 0 WCB Cold plate x1

3090 FE Sealing mate w 2 pins x1

WCB A6000/A40 Cover x1

WCB End cap for back A6000/A40 x1

CMN Barb fitting 1/4 x2

WCB RTX A6000/A40 CMN Backplate x1

RTX3000 3080/3090 FE WCB Adapter x1

Cable channel for A6000/A40 x1

Single Bracket A6000/A40 x1

O-Ring sealing 165 mm 2 mm NBR70 x1

Cord Rubber 1.5 mm L=110 mm x1

Cord Rubber 1.5 mm L=27 mm x1

Cord Rubber 1.5 mm L=133 mm x1

O-Ring sealing 5 mm 2 mm NBR70 x2

nVIDIA ASUS RTX A6000 48GB PCIe x2

3090 FE stock spring x1

3090 FE Stock screws M2 x4

421622 5 WUERTH Tap screw pan head with Z, zinc plated, 2.2x5 mm x1

76963 PCHSN2-10(3.0)Л x2

Plastic washer M2 x4

Thermal pad LAIRD Tflex HD91000 t:1 mm x1

O-Ring sealing 11mm 1.5mm x2

Screw ISO7380 NON STAND M3x5 A2 x9

Screw M3x8 ISO7380 A2 x16

Screw M3x6 ISO7380 A2 x5

Screw М2х6 ISO7380 A2 x8

Screw M3x20 ISO7380 A2 x3

One-ear clamp with insert ring D19.5 x2

One-ear clamp with insert ring D15.5 x2

Spring band clamp D19 x2

Spring band clamp D15 x2

Set composition

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31



COMINO А6000 Waterblock. Assembly instruction 3

WCB RTX A6000 with card dimensions

280.5 mm

Connector

Inlet

Outlet

21.4 mm

D: 10.6 mm

12
6

.9
 m

m



COMINO А6000 Waterblock. Assembly instruction 4

WCB Layout

Waterblock screws tightening order (1-24)

The numbers correspond 
to the list from page 2

Pre-tighten screws with torque 0.3 ± 0.1 Nm in accordance with the scheme.

Tighten screws with torque 0.8 ± 0.2 Nm in accordance with the scheme.

1

1

3

75

9

11

2

4

10

23

121519211714

24

222013 188 616

2

3

10

13

1225

24

23
4

14

11

1.

2.

ASSEMBLY STEPS



COMINO А6000 Waterblock. Assembly instruction 5

THERMAL PADS LAYOUT

Thermal pads common area 90 cm2.

Thermal pad cutting tollerance - ± 0.5 mm

After thermal pads are installed and thermal paste applied fulness of contact  

to the GPU processor needed. At least 80% of square must be filled. Variation  

of thermal paste layer must be avoided. 

Squeezing of grease from contact surface is not allowed. Remove leaks with dry

tampon from side faces of items adjacent to the contact surface.

Thermal pad LAIRD Tflex HD91000 85x6.5 mm, t:1 mm x1

Thermal pad LAIRD Tflex HD91000 74x6.5 mm, t:1 mm x1

Thermal pad LAIRD Tflex HD91000 13x8 mm, t:1 mm x1

Thermal pad LAIRD Tflex HD91000 87.2x14.5 mm, t:1 mm x1

Thermal pad LAIRD Tflex HD91000 85x6.5 mm, t:1 mm x2

Thermal pad LAIRD Tflex HD91000 37.5x14 mm, t:1 mm x2

Thermal pad LAIRD Tflex HD91000 50.5x14 mm, t:1 mm x4

Thermal pad LAIRD Tflex HD91000 12x14 mm, t:1 mm x2

Thermal pad LAIRD Tflex HD91000 77.2x14.5 mm, t:1 mm x1

1

2

3

4

5

6

7

8

9

3 7 76

8

65

5

9

12

477 8

237 Thermal paste 
Arctic Cooling “MX-4”

3.

4.

5.

6.



COMINO А6000 Waterblock. Assembly instruction 6

WCB assembly with RTX A6000

Tighten items 5 and 27 until sealing get proper pressed operational state.

If possible, provide leak test by pressed air under 1±0.1 bar within 5 min. ±10 sec.

Pressure drop more than 0.05 bar is not allowed.

8

18

22 277

5

25

20

15

17

9

6 26

16
20

26

19

The numbers correspond 
to the list from page 2

7.

8.



COMINO А6000 Waterblock. Assembly instruction 7

Tighten screws in accordance with the scheme.

Screw up to a distance of at least 0.5 mm from the PCB.

Tighten screws with torque 0.4 ± 0.1 Nm in accordance with the scheme.

Perepherial parts tightening order (1-4)

Backplate screws tightening order (1-6)

1

1

35 2 6

4

4

23

9.

10.

11.



COMINO А6000 Waterblock. Assembly instruction 8

Manufactured by COMINO HOLDING LTD. 

1 Fore Street,

London, England,

EC2Y 9DT


